EARAROBEEIERT — 2 N— IBISH —F

20135 7A6H (+) 7HEE1R

I 3m— 448 Yo% 3% ‘ [xE] & ‘ [eErE] - | 4 (H) 14000 FE
[AE4£] 1% :170,000 @ ~ 23#&:39,000 ™  33%&:1500 M  437%&:9,000H ~ 53%:5,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N HEBIEfE 132. 02— . — HETE (£8)
11515 A A FR—L 4 3 w0 1(3_2)2 2-2-2-1 39.8 1 (4‘2’7) Ez’:; 8
LA bk—b BiRII—Fvya HEKS
KPP 4 3 | EDEX 1:32.7 5-4-3-3 [39.7| — 5 302 | HIHERZ (£H)
2|11 |¥=FEYH 54.0 2'1/2) 4y |EAEE
L:TYHL XTI R B:H Ry —F2 [E]=sEae
. =+ L . qq_ _ = 0
3 3| Z7AMTaTN o3 | CERA 1.(35.3 1-1-1-2 | 40.9 4 | a2 2{% *§ (t£%)
LTHAFRIA— BT p— Y 0 k@ +%
N 4 3 | REEC 1:33.4 4-5-5-4 | 40.0| — 3 418 | hEFE (£H)
41717 T~V 54.0 (1/2) (o) |HOEA
L:7NHEy b B:INTr—KED EEZie ]
] M :33. —7-7- . — IHAZEA (£8)
5lglg| IRENY X i 3 o= 1(323)8 8-7-7-7 | 39.9 2 ;1_538) Flharol i1
L:2a—-Uria—-x B:uATN=) NK EBR
o o BEA— :34. —6-6- . = THERE (E8)
cMY 6| s RR—I I 0 e | FEEE ! (4317) T
R RKYIYRIRX Bz HF—AILA BRT7— L
S5 i 3 | IS 1:34.0 3-3-4-5 |41.1| — 6 438 | THERE (EH)
7 2| VIR Y #53.0 (72%) -3) EHEE
L:TZRT8— B:T7Y/%Talh fiilibae]
N BER— : -8-8- - BEZE (BB
8 RSP 4 3 loi 1.(365).1 7-8-8-8 | 40.9 7 ;1:358) o
R:ERYIFRYT—/ BRIy KB +F
@ 1—F—@&BIEf
i3=3r= 3,5,2,7,1,6,4,8
Aol=5r= 3,5,2,1,7,6,8,4
30—7+— 3,5,1,2,7,6,8,4
41 —F— 5,3,1,7,2,6,8,4
[ RN
B OB 5 100M 714K 1-5 220 B E 1-5 560/ &R 1-3-5 1,450
8 B 5 100M 3-5 250 B H 5-1 430 JEH G=11=3 2,560/
1 1804 1-3 860
8 190M9

ABICOVWTRDTEEERROODE. TR LIV,




